B &

JRIZEER
1000H

B HERR
920H

IREFm R
920M

JRESER
320M

BN ZAREFTEEHIR
thTEmt Al
- = T = T H
ga\| BEEAREUI—(REBFINERBLET., |(Bu\ BEAREUI—(REBRIEEHELET, |
6 05 55 45 15 6 |30 45
7 15 47 |39 7 120 15
,,,,, gwo o0 0 | ]840 0O 30 |
,,,,, 916 05 30 22 1951 105 380  |22%
1016 | 25 | L | 100 5 @O |
1126 | 45 | AU 1120 45 30 |
12 30 12|40 30
13(12 W |20 30 13 51 20 30
1400 50 30 14 50 30
15/50 30 15/20 30
16, | 15 L | 1631 | 15 | 4 |
1710 45 30 17 45 50
18|25 30 25 1800 30
19|24 15 10 19 01 00 * O HEE
20 | 1 I e
w ¥ W o
,,,,,,,,,,,,,,,,, R ® r » | |
XERTE - REEBERTE - WBTEREINT *ERTE - REERTE - BETERIANT
| BBsREYS— (EERN 2RALET. | | EBSREL Y- (RBRE) SEHLET.




S

thiEft
320

HB/INRA BB FEIRZE
BEEBC(3&HKR—A)

- = = HE 1E =’ s =
% 44 i i | B T 1 i | B
B % GR=VAER) (ABRILER) (AR ILEER) B ZI GR=YAER) (AR WLEER) (ARWLEER)
ffffff e, 1\ ! 16, 1 |
7110 49 |12 7 110 45 |12
8|21 56 (02 27 | | 8|21 51 |02 |
93 56 02 | | 9 37 | 2 |
10/53 56 (02 | | 10/25 57 (02 |
11|56 02 11|45 02
12)88 02 | | 1237 | 62 |
13/26 53 |02 10 13/03 57 |02 10 =
14| 27 02 14| 25 02
15/13 26 02 | | 15/17 45 02 |
16/18 56 (02 | LI 16/22 12 10 ~ |
17/43 48 02 | | 17/03 47 |20 |
1830 38 02 | | 1825 | 0 |
19| 36 00 19/ 11 43
20|18 30 20| 46

* D HIEIT

MXEDRZRDI N TONAPHREMILICITELT




